nnnnnnnnnnnnnnnnnnn



Q') SIQSM?{-
let U= 22 0nd dv =5mx
QU =2x pnd V= -3z
) ua.}j uv - Jvdu
(P )Cedsx)- 5 Ceosn) (2xdx)
= losx - §-2x s T dx

[i&h.:: 2% and dU :Ca'bx_l
0U[d = -2x ond V=S
C-E:{__)Camx)' D(..E-m ) (-2] 4 x
-z < nre - (2) )5 1. gL
-2 50x-2)%-wyx O
- % - 2CoyxtC.
oy j;czsmf,x: - X 3’ T 2 bin T '2“’3"7‘:-*(4);

—

nnnnnn d by TapScanner



Scanned by TapScanner



WLEL\-"- (O Now \-n'-‘-

5021.-711)&14 ji""’_c}f-

2,

= D -Z”
>

2

|~

—~+ Cta \n C\-’K_) y

nnnnnnnnnnnnnnnnnnn



